PreCalculus Unit 4 Review (Practice Test) Name:
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Directions: Practice problems 8, 10, 12, and 22 with and without a calculator.

Find the focus for a parabola with vertex (5, -2) & directrix y = 3.
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Find the vertex for a parabola with focus (5, -2) & directrix x = -6.
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Find the directrix for a parabola with vertex (4, -2) & focus (4, -7).
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Write the equation for a parabola with vertex (3, 2) & directrix x=-1.
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Find the vertices of an ellipse with foci (0, 4), (0, -4) & minor axis of 6. v
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Write the equation for an elhpse with vertices (13, 3), (-13, 3) & foci (12, 3), (-12,3). ,
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Draw the graph and write the equation of an elllpse with a major axis of 12, minor axis of 10 & center at
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8) Draw & label the graph of 12x* + _1}22 = 48. &
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9) Find the eccentricity of #8. -
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10) Draw & label the graph of 25(x — 2)?— 16(y + 3)? = 400. 2
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11) Find the eccentricity of #10. x of LA
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12) Find the vertices & foci of 4y?— 6x* = 36.
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13) Write the equatlon for a hyperbola with foci (13, 3) (-13, 3) & vertices (12, 3), (-12, 3).
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14) Find the equation of the asymptotes of #13.
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16) Draw and Label all parts of a hyperbola.

17) Draw and Label all parts of a parabola.

ES

T

foeal uaddt = [Up]
= HC2)
=8



18) In the textbook do problem #53 on p. 653.
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19) In the textbook do problem #75 on p. 699. e~ fa
c* .0b6
lg!j _; ’x’Z_ E‘
4= \8
vertey - (0,0) s B8
p=Y.s

!&m £ Co,L{.S'T\

20) In the textbook, do problem #53 on p. 641.
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21) In the textbook, do problem #40 on p. 698.
‘Pwou\ooLm
verdext (4,29 7 .
opems Lo —>  (y-\) = Ypl(x~h)

ity Rl (LA—*?-)I“- Yp (x=1)
(9+2)= UpCx-)
Focal longth =2
sy —— Ll.j+2)1= 4=~
S0, X=%

U+2)e -2 Cx-15)

22) Find the vertex, focus, directrix, and focal width of (x + 2)? =-4(y — 1).
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